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1. TEAT 2x3x5x7x11+1 &

(a) T FHTST G&AT

(b) TH WY HEAT AEl, dfcsh T
HATST &1 6l °I

(c) U AT HEAT 6l °Tq el, dfeh
TS HIST §H &l

(d) TH A9TST FEAT i 919 Tel, dfeh
U Wy fawm w@e

LEEs & @ oA g ffafea

Rt a1 w7 E .

(i) 7% T | T AR H
TUAET 2160 ?

(i) W T # SFT GEATH F HCF
12 ® |

afe et gw fi derst w5 ea x
? 3R R T i deand @ siea
y &, a@ x IR y & A\ TR ?

(a) 60
(b) 72
(c) 75
@ 78

L0 frm s € 7 (R &
log2 = 0-301 3R log, (3 = 0-477R)

(a) 16
(b) 18
() 19
(d 27
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4.3 n Tm W quis R, o GHERT

= ¥ et W e, fe-
R daamar e ?

@ {1, n%

®) {1.n}

(© {1, n}

(d) {n, n%}

.Ts gfeaifiar-ader |, 250 vt A

gsireur (ToreeR) ferar @ | 79 9, 50
IET 7 wifadhr & fog W fmam R,
75 Bl 7 Wt & forw 3R 35 BET A
i ik e St & foo Wrex
frr R | 57 wEl & den feadt @
el = ar Wifecht & oy sk 7 &
Tfore & foro ez o & 2

(@) 90

(b) 100

(c) 150

(d) 160

O @& 107 -1 % 3@ & ARTHA,

el n UF gAqUITe @, 3798 &% SR ¥,
W AATTR ?

(a) 421

(b) 422

(c) 423

(d) 424

Jrafafea # & W @ W@,

@ 22222, 22222 22222 22222 { Y
e F81 © ?

(a) 22222

(b) 29222

(c) 22222

(d) 22222
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1. The number 2x3x5x7x11+1 is

(a) a prime number
(b) not a prime, but power of a prime

(c) not a power of a prime, but a
composite even number

(d) not a power of a prime, but a
composite odd number

. Two unequal pairs of numbers satisfy
the following conditions :

(i) The product of the two numbers
in each pair is 2160

(i) The HCF of the two numbers in
each pair is 12.

If x is the mean of the numbers in the
first pair and y is the mean of the
numbers in the second pair, then what
is the mean of x and y ?

(a) 60
(b) 72
() 75

(d) 78

. How many.digits are there in (54)!10 ?
(Given that  log;;,2=0-301 and

(@) 16
(b) 18
() 19

@ 27

4. Which one of the following is a set of

solutions of the equation xV= =Nx*,
if n is a positive integer ?

@ {1, n%}
®) {1.n}

(©) {1, n}
@) {n, n*

. In a competitive examination, 250

students have registered. Out of these,
50 students have registered for Physics,
75 students for Mathematics and 35
students for both Mathematics and
Physics. What is the number of students
who have registered neither for Physics
nor for Mathematics ?

(a) 90
(b).. 100
(©). 150
(d) 160

. If the sum of the digits of a number

10" — 1, where n is a natural number,
is equal to 3798, then what is the value
of n?

(a) 421
(b) 422
(c) 423
(d) 424

. Which one of the following is the

largest number among 22222, 22222,
22222 22222?

(a) 22222
(b) 22222
(c) 22222
(d) 22222

A — PLKI-T-MTK
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8.

10.

af} 0 AR 50 F = IwTST wEEE H
TET me; IR 50 3K 100 9 A9TH
ﬁ@'ﬁﬁiﬁmn%,ﬁf(m—n)%ﬂﬁi
T ® 7

3
(©) 3

27
(d W

afe x 91 a7 gt 8, @ fraafofea &
¥ B GO I+ 37+ 32w
EER IS C

(@) 3
(b) 13
() 39

@ 117
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11.

12

13.

14.

3 3 A UH GEAT, TAH A W
ACH-9ge IR SATE TS FEAT &% IR IMAT
¥ 9 afts | Al Q st B v F
3T T UERA 8§, AN AT TR ?
(a) 81 |

(b) 42

(c) 24

@ 18

. afe o 3R B, feama axfieor

X +kx-15=0% 7 3@ ¥R & fh
a-f=8 B, W &k H GG A
72 -
(@ 2

() 3

(©)4

@ 5

paﬂ'{qaiﬂﬁmrﬁm%,qﬁ'(x—l)
3R (x+2) SIgdq x3+4x2+px+q Ea)
Fromfore e & 7

(@ 1, -6

(b) 2, -6

© 1,6

d 2,6

afe x2+5x+6 IR 22 +8x+15 &
HCF (x+k)®, kT AR TN E ?

(a) 5
(b 3
(c) 2
d 1
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8. If m is the number of prime numbers
between 0 and 50; and 7 is the number
of prime numbers between 50 and 100,
then what is (m —n) equal to ?

(a) 4
(b) 5
(c) 6

@ 7

dir g e
l, then what is the value of ﬂ ?
4 def

_—
Ry
—
- |

(b)

&lw

3
(©) 3

27
(d) Y

10. Which one of ‘the. following is the
largest divisor of 3%+ 3¥1+3¥2 if
x is any natural number ?

(@ 3
(b) 13
(c) 39

d 117

11.

12.

13.

14.

A two-digit number is 9 more than
four times of the number obtained by
interchanging its digits. If the product
of digits in the two-digit number is 8,
then what is the number ?

(a) 81
(b) 42
(c) 24
(d) 18
If o and B are the roots of the quadratic
equation x*+kx—15=0 such that

a—pB=8, then whatis the positive
value of k?

(a) 2
(®) 3
(c) 4
@5
What are the values of p and ¢

respectively, if (x—1) and (x+2)
divide the polynomial x3+4x%+px+q ?

(@1, =6
(b) 2) _6
() 1,6
@ 2,6
If (x+k) is the HCF of x*>+5x+6

and x2+ 8x+15, then what is the
value of £?

@ 5
() 3
(© 2
@ 1

A - PLKI-T-MTK
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15.

16.

17.

18.

afs 551 _5%1=6008, ar 1025 7
B

(a) 1

(b) 1000

(c) 100000

(d) 1000000

TS 61 30 UHR & © 6 e 12288,
28200 3R 44333 =t fawmfoa =@ w|
v fErfa & o dar (gam) e
WTH BT § | 9% 6 |1 e ?

(@) 272
(b) 232
() 221
@ 120

A} 2+92=6xy B, WM y:x fras
WER B ?

@ 1:3

(b) 1:
(c) '2:1

3]

(d) 3:1

afg m IR paegUiE 3@ wER § R
m" = 1331 &A1 (m — 1) =1 71 70
g7

(a) 1

(b) 100

(c) 121

d 125

PLKI-T-MTK - A

19.

20.

21.

22.

1 1

n—m _1

, foross o= 8 7

a™ " -1

(@) 1
(b) -1
(© 0
(d) 2a™m™

a

MR x=+2, y=33 Rk =6 ?, &
fraff@ i o ad 2 7
(B) y<x<3z

b)) z<x<y

(€)- 2z <y <x

(d x<y <2

afg log x =1-2500 3ﬁ‘(y = xlogx g, @
log y Teraeh sReR 2 7

(a) 4-2500

(b) 2-5625

(c) 1:5625

(d) 1-2500

e f(x) F (x— a)x-p) ¥ fawlm
ﬁm—rmv Wﬁaiﬁ%.?ﬁ@rﬂ'ﬂlﬂw
g7

@) (x—a)f(a)-(x-P)f(B)
a-B
(x-a)f(B)-(x-PB)f(a)
a-p
(x-B)f(a)-(x—a)f(B)
a-p

(x=B)f(B)-(x-a)f()
a-p

(b)

(c)

(d)
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15,

16.

17.

18.

If 51— 5%1=600, then what is the
value of 10%*?

(@) 1
(b) 1000
(c) 100000

(d) 1000000

A number divides 12288, 28200 and
44333 so as to leave the same
remainder in each case. What is that
number ?

(a) 272

(b) 232

(c) 221

(d) 120

If x2+9y*=6xy, then what is y:x
equal to ?

(@ 1:3

(b) 1:2

(e)-2:1

(d) 3:1

If m and n are positive integers such

that m" = 1331, then what is the value
of (m-1)"19

(a) 1

(b) 100
() 121
(d) 125

19.

20.

21.

22.

1 1

What is 1 am ] equal to ?
(@) 1

(b) -1

(© 0

(d) 2a™™"

If x=\/§, y=§’f§ and z=%, then

which one of the following is correct ?
(a) y< x <2
b z<x<p
) z<y <x

d x <y <\

If logx=1-2500 and y = x/°8%, then
what" is logy equal to ?

(a). 42500

(b) 2:5625

(c) 1-5625

(d) 1-2500

If f(x) is divided by (x— a)(x— )
where a=f, then what is the

remainder ?

(x-a)f(@) - (x-B)f(B)

(a) o
b G- B)-G-F)f(@)
a-p
(x-B)f(@)=(x-a)f(B)
(c)
a-p
@ E=PIB-G-a)/(@)
a-p

A - PLKI-T-MTK
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23.

24,

25.

afe us o & SFw
2401x% + 196x% + 4 ®, A T8@H 1 Hi
TS FAT R ?

(a) 49x2+3x+2
(b) 49x2—3x+2
(c) 49x2+2
(d) 59x%2+2

e x, yz & IER oo @ R, Ay
foress wfteima: sea @ & 7

(@) xz
®) <
Z
© %
s
(d) (x2) .
afs fag PR QuE RS W AT

gemst 0-73 IRO:-58 =t frefua @
€ O PR QFwta Qg ?

1
(a) 5

|

()

16

© 75

11

(d) 90

PLKI-T-MTK - A

26. xy-99dd 9 Sx + 2y = Txy IR

27.

28.

10x + 3y = 8xy i
I &A aren fag am ar @ ?

forelt a5g X & 5o & s o 20%
RNy AR IR gy Fg #
af af 10% & 3fg et & | 9 2010
H, q& X T I T5000 A1 AR G5
Y ST 22000 o1 | e o ¥ weeht
IR S A1 & AR T5000 q s
L
(a) 2012
(b) 2013
(c) 2014
(d) 2015

X 3R vy & wfedt (I9) w1 sgu
5:6% 13 12 km f @ 2 (W)
H, ¥, X® 70 m & fama (gfem)
AT ®, O W F 9 Siran iR e
& (FR) & i ?

(@) 30m & IR Y X I SAlqar &
(b) 90m F IR Y Y | Saar &

(c) 130m & IR ¥ Y | Siaar &
(d) 3@ foaga s W 99 B &
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23.

24.

25.

If the area of a square is
2401x* + 196x% + 4, then what is its
side length ?

(a) 49x%+3x+2
(b) 49x%2—3x+2
(c) 49x2+2

(d) 59x2+2

If x varies as yz, then y varies inversely
as

(@) xz

(b)

N | &

=N

(©)

1
@

If the points P and Q. represent real
numbers (-73 andN\¥9.56 .on- the

number line, then wwiiat is the distance
between P and\?

(a)

= A

®) <

16

(© 25

11

(d %

26.

27.

28.

What is the point on the xy-plane
satisfying 5x + 2y =7xy and
10x + 3y =8xy ?

o ()
o (k-]
o (v}

@ (49

The price of an article X increases by
20% every year and price of article ¥
increases by 10% every year. In the
year 2010, the price of article X was
5000 and price of article Y was
T2000. In which year the difference in
their prices exceeded T5000 for the
first time ?

(a) 2012
(b) 2013
(c) 2014
(d) 2015
The ratio of speeds of X'and Yis 5 : 6.
If Y allows X a start of 70m in a

1:2 km race, then who will win the
race and by what distance ?

(a) X wins the race by 30 m
(b) Y wins the race by 90 m
(c) Y wins the race by 130 m

(d) The race finishes in a dead heat

A - PLKI-T-MTK
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29.

30.

31.

32.

7fe us gt dr wfa = sadh g
wife & 5 km/hr =1 fear smg, G300 km
$t AT T FRA H 98 ISt q He
Y &9 odl § gl dae W am
T | Q1 HE Yo UgAd © | Xenmet @
= fd (I1) TR ?

(a) 50 km/hr

(b) 40 km/hr

(c¢) 35 km/hr

(d) 25 km/hr

afe 6 qew 3R 8 wfeard & wm =
10 fo7 § @ == " €; 3R 13 9@
3R 24 wigemd It & F1 4 7 & @
R ghd €, A T foT # uw gew gr
Tere w1 =t 1w foT 3 o wfee gr
for T 1 |, FETE TR ?

(a 2:1

(b) 1:2

(c) 4:3

d 3:4

TS HET # AT N FRAT A TH GHA
e aret uftrat # fasmn sar @ | 3l
T Ufth # IE f wET 2 mo |
STt ©, a1 9fehal A G@& 3 FH 6 Sl
2 | afe v dfsS eEt A @@ 4
31 & Wl §, QRYiehal =l §e 5 o
T AT ® L& # wEl e faad
g7
(a)
(b)

100

105

(c) 110

(d 120

Teh gAY 2 a6] & o e g <)
A FIHRY AT G T T e | A =
1% WG A & | A W oAl
STET, 9 W R 24 v e w@ea A |
gaiyr fepat 8 7

PLKI-T-MTK - A

10

33.

34.

(a) %500
(b) T600
(c) %800

(d) %1200

QWA B SEEE wEHA 1525 3R
2600 ¥ | Al wedt Wa F gEui R
SHEET & Afgersit f SwEer 4
AT 27 : 34 © 3R qER WA A GoS H
SEEET &1 Higarsl 6 SEeedr 9
JAE 6:7 ® A T QWi AEr H
SEET &t fiema), qee it SAeen
&1 Afgersii 6t FTHEEAT ¥ FHIE 1
g7

33

41

85

82

71

90

@
@
©
@ >

U weT § wefRal it g @ aget

1 dear ¥ AU 3:4 ¥ | wem A

frenf¥fat =1 sitaa &g 4.6 fe ® | 3l

FET 3§ TSl 1 Sad e 48 Bl R, A

e § wefedl w iaa I TR ?

(a) 42Fcd T

() 426 ¥ afs AfET 4.3 Fie A
.3751'

(c) 43 Hie ¥ afts AfF 4.4 fie @
+H

(d) 4-4 e ¥ after Afe 4.5 Fie |
H
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29.

30.

31.

32.

A train takes two hours less for a
journey of 300 km if its speed is
increased by 5 km/hr from its usual
speed. What is its usual speed ?

(a) 50 km/hr
(b) 40 kmv/hr
(c¢) 35 km/hr
(d) 25 km/hr

If 6 men and 8 women can do a piece
of work in 10 days; and 13 men and
24 women can do the same work in
4 days, then what is the ratio of daily
work done by a man to that of a
woman ?

(@ 2:1

(b) 1:2
(c) 4:3
(d 3:4

Students of a class are made to sit in
rows of equal number of chairs. If
number of students is increased by 2
in each row, then the pumber of rows
decreases by 3. If puitiber of students
is increased by 4 ifitach row, then the
number of rows:décreases by 5. What
is the numbet »f students in the class ?

(a) 100
(b) 105
(c) 110
(d 120

A sum was put at simple interest at
certain rate for 2 years. Had it been
put at 1% higher rate of interest, it
would have fetched ¥24 more. What
is the sum ?

11

33.

34.

(a) 500
(b) T600
(c) 800
(d) %1200

The population of two villages is 1525
and 2600 respectively. If the ratio of
male to female population in the first
village is 27 : 34 and the ratio of male
to female population in the second
village is 6 : 7, then what is the ratio
of male to female population of these
two villages taken together ?

33

5

85

®) =

71

(©) %0

5
@ %

In a class room the ratio of number of
girls to that of boys is 3:4. The
average height of students in the class
is 4-6 feet. If the average height of the
boys in the class is 4-8 feet, then what
is the average height of the girls in the
class ?

(a) Less than 4-2 feet

(b) More than 4-2 feet but less than
4-3 feet

More than 4-3 feet but less than
4-4 feet

More than 4-4 feet but less than
4-5 feet

(©)

O

A - PLKI-T-MTK
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3s.

36.

37.

Ta (1) 3,5,9,4,6, 11, 18 Y wifeyesT
(Hfegm) = @ 2

(a) 6
(b) 65
() 7
(d 7-5
o gaRa § d e § | AR dwt F

T H FIT 1:2:3 8, O T -
AFE T 0T T @ 7

(a) 200°

(b) 180°

(c) 150°

(d) 120°

ARk qated & e @ el wdan
& ftreaw 3t &@5250 ¥ 50 wew
foar 7 ® | Wt et S=aw i 170
g R feam s 70 ¥ | AR

AT H IoAqH AR gAaH Wi &
&t =1 3R fhamT ® 2

(@ 15
(®) 17
(c) 20

(d) 24

PLKI-T-MTK - A
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AT A (03) oAt forg fodar

frafafaa gemm it oy 3k om s e
frafafaa siee ad 2010 # ©: -3
Siet A, B, C, D, E 3R F & 91 U Afvat
e (e @ frefle ) €, Rl 3
FAN: S i Il Q@ A ), iR s
Iafy & ¢ Qufdrs a1 g wfieor ww
foran (1) sk = ot Frdiom (@iedie) =1
WEdTE WH BT (2) |

X Y Z
86 45 25
1305 903 461
2019 940 474
1166 869 416
954 544 254

1198 464 174

38. wikferm diftat it srfrraw sl wrgem
(Fgram) widsraan areft St A §

(a F#R D

o R Besl el (] ool -2

(b) D3R F
(c) C3R A
(d D IR A
39. wiufera QfEt A srftrerew e
AT e B
(@) F

(®) D
(¢c) B

d A
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35. What is the median of the data 3, 5,
9, 4,6, 11, 187

(@) 6
(b) 65
© 7

@ 75

36. In a pi-diagram there are three sectors.
If the ratio of the angles of the sectors
is 1:2:3, then what is the angle of

the largest sector ?
(a) 200°

(b) 180°

(c) 150°

d 120°

37. The maximum marks ifi a Test are
converted from 258~ to 50 for the
purpose of an Intérinal Assessment. The
highest marks\\scored were 170 and
lowest marks” were 70. What is the
difference between the maximum and
minimum marks scored in the Internal

Assessmert ?
(@) 15
(b) 17
(c) 20

(d) 24

13

Directions for the following three (03)
items :

Read the following information and answer
the three items that follow :

The following data presents count of
released convicts who have served prison
terms (X), those who have received some
educational or technical training during their
term (YY) and those who were offered
Company placement (Z) respectively, from
six different jails A, B, C, D, E and F, in
the year 2010.

X Y VA
A 86 45 25
B 1305 903 461
C 2019 940 474
D 1166 869 416
E 954 544 254
o 1198 464 174

38. Jails with highest and smallest percent-
age of trained convicts are respectively

(a) F and D
(b) D and F
(c) C and A

(d D and A

39. Jail with highest placement rate of

trained convicts is
(a) F
(b) D
(c) B

@ A

AL PLKI-T-MTK
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40.

41.

42.

43,

T oo, Tomed wfufem Sftat & @ ama
¥ uftes QM = A (") @
W WH g 8, €

(a) A, B3R C

(b) A, B3R D

(c) A, D3R E

(d A, E3RF

dF el arelt UEl wend (g s
firm ) et 8 =t 79 W € 3R
I Il H WA I I oA UK
79 99 § 7

(a) ®:

(b) wi=

(c) IR

(d) d=

x R y & T ls 7w § =
A 5x + 9y =7 H L A €,
el —500 <x <500 3R —5082 y <500
®:7

(@ 110

(b) 111

() 112

@) Iw § ¥ T A

A o X vZ 3-3it (A= st
# T "Ee 1 " it S=xyz+
YZx+zxy & | fafafes # @ 2
|q1/8 w9 wE 2/% ?
1. S 63 3 3R (X+Y+Z) q W T B
2.5 §eF 9 ¥ WG ®

3.8 W 37/ wrw ?

PLKI-T-MTK - A
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44.

45.

4= fou M Fe w1 @ W FE SR
7Y :

(a) &Fad 1

(b) *a 2

(c) 1 3R 2

(d 1 3R 3

feht fafesm g0 & @ =1 & forg,
X R Y & 3fea aifat 4:5 % sama
# € ol o sE A F X, ¥ &
e 45 fire s T @, T vy =
9 oA 9% Ygad # feam @
T ?

(a). 135 fime

() 150 firme

(c) 180 fme

(d) 225 fame

feel & Jwwi W dmwa s R

OERA P B | T QA FE0 H wcHd
wTEm T ® 7

(@)

|Co 11>

(®)

~
(38 ]
~u
p—

&)
"o

(©)

‘*c |

(d)

_—
&)
U

-
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40.

41.

42.

43.

Jails from which more than half of the
trained convicts are offered jobs, are

(a) A,

(b) A,
(c) A,

B and C
B and D
D and E

(d A EandF

The number of three digit numbers
(all digits are different) which are
divisible by 7 and also divisible by 7
on reversing the order of the digits, is

(a) Six

(b) Five

(c) Four

(d) Three

How many integral values of x and y

satisfy the equation 5x + 9y = 7, where
-500 <x <500 and —500 <y <500 ?

(a) 110
(b) 111
() 112

(d) None of the above

Let XYZ bea 3-digit number. Let
S=XYZ+ YZX+ ZXY. Which of the
following statements is/are correct ?

1. § is always divisible by 3 and
X+Yr+2)

2. S is always divisible by 9

3. § is always divisible by 37

15

44,

45.

Select the correct answer using the
code given below :

(a)
(b) 2 only

(c) 1 and 2

1 only

(d) 1 and 3

In covering certain - distance, the
average speeds of X and Y are in the
ratio 4 : 5. If X takes 45 minutes more
than Y to reach the destination, then
what is the time taken by Y to reach
the destination ?
(a) 135 minutes
(b). 150 minutes
(¢) 180 minutes

(d) 225 minutes

For two observations, the sum is .S and
product is P. What is the harmonic
mean of these two observations ?

(@)

(®)

(©)

(d)

A — PLKI-T-MTK
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46.

47.

48

gfe x 6 aiffs s vy f arffes sma
¥ 20% At B, A YR s x &
IT Y p% FA B | p o AH T € ?
(a) 10
(b) 16%
() 17}
(d) 20

et gEew of @ denm w1 g oS
3,4,5 6337 4 99 §7

(a) 1764

(b) 17640

(c) 44100

(d) 176400

gt it uE Eh ¥ 2 e € ) afe et

- Tyt = @ren ST ar SR A e

49.

e ¥ 20 fire W € | 3l S e
forra = @ siTe d e 30 fime #
gl Bt ® | 3fy Faw g frem @
QT ST Y Eehl 1 @l g A e
9 A ?
(a) 30 fime
(b) 40 fime
(c) 50 fime
(d) 60 fime

afe (x2 = 1), ax*+bx3+ex? +dxte & T
TAEs ®, @ Frafafaa § & @@ @
T R R 7

(@ at+tbt+tc=d+e

() a+b+e=c+d

(c) b+tc+td=a+e

(d atcte=b+d

PLKI-T-MTK - A
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50. afq [x3+%}=47 g (x6+xi6] &1

51.

52,

53.

qA. TR ?
(a) 36
(b) 27
) 18
d 9

T qfear o fme # 360 SR 9T ® |
T s # ug wiedn foraw dfeaw g
R?

(a) 4n

(b) 67

© 12%

(d) ler

(25 cosec®x + sec?x) & FAGH HIF FT
?7?

(a) 40

(®) 36

(© 26

(d) 24

A iforg & 0 < 0.< 90° 3R

1000 =90° ¥ | afg a =122, cotnb %,
A frffm iAo wE ® 7

@ a=1
b)) a=0
(c) a >1

d 0<ax<l
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46. If the annual income of X is 20%
more than that of ¥, then the income
of Y is less than that of X by p%.
What is the value of p?

(a) 10
(®) 163
() 17}
(d 20
47. What is the least perfect square which
is divisible by 3, 4, 5, 6 and 7?
(a) 1764
(b) 17640
(c) 44100
(d) 176400

48. In a water tank there are two outlets.
It takes 20 minutes to empty the tank
if both the outlets are opened. If the
first outlet is opened, the tank is
emptied in 30 minutes. What is the
time taken to empty the tankby second
outlet ?

(a) 30 minutes
(b) 40 minutes
(¢) 50 minutes
(d) 60 minutes

49. If (x*—1) is a factor of

ax*+bx3+ex2+dx+te,
then which one of the following is
correct ? :

(a) al+b+c=d+e
(b) atb+e=c+d
(c) b+tc+d=a+te
(d a+tc+te=b+d

50.

51.

S2.

53.

If (xﬂ +is] =47, what is the value of
X

A wheel makes 360 revolutions in one
minute. What is the number of radians
it turns in one second ?

(a) 4n
(b) 6z
(c) ™2z
(d) l6x

What is the least value of
(25 cosec?

x + sec?x) ?
(a) 40
(b) 36
(c) 26
(d) 24

Let 0<0<90° and 1000 =90°. If
a=Hii. cotn@, then which one of

the following is correct ?
(@ a=1
®) a=0
c) a>1

(d 0<ax<l

A - PLKIE-T-MTK
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54,

55.

56.

af tan 66= cot 20, W&l 0< 60 ég_ 2,

T sec40 HMAAMFTE ?
(a) \2
(b) 2

2
(©) NE)
4
(d) 3

15 m 391 & I &1 901 § T UHR
gear & for Saet ofid 9yt (ao) & =
® 3R O o |1 30° &1 HI9T ST € |
ad & 94 farg &t J=rd foralt R ol @
JA TR ?

(a 10m

(b) 7m

(¢) Sm

(d 3m

TS @9dd &3 H o FEER WK U
TR A 100 F2 Hgh | €| D
HR H I 40Tie ® | 6 Fle F&T
(F91) T SRS T HARI F a9
St aTefl @7 R 36 YaR @er ¢ 5
TF HART & ofid sk @w = s us
& @ W) g far 4 @ f
g 75 fie ®, @ aft WA i S
(rrT) fepat @ 2

(a) 85 Hie
(b) 110 e
(c) 125 fie
(d) 140 Fie

PLKI-T-MTK - A
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57. T HIR & a9 ¥ p 3R ¢ A g W 3R

58.

59.

()

T B W @ § Rm Qs @
AR & ofid & Ioaa 7 e 27°
AR E I AR B I T £ ?

(@) pq

®) -/Pa

c £
2

\pa

(@)

sin%6° + sin?12° + sin®18° + .... +
sin?84°+ sin?90°, FHT WA FT & ?
(@@ 1
(b) 2
(c) 4
(d) 8

cosf
1+sin@

L e s 2 2

cot@’

cosecO
(b)

secO

secf + cosech

(©)

cosecH— cotl

(d)
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54. If tan 60 = cot 20, where 0< 60 <12‘,,
then what is the value of sec 407?

(@ 2
(b) 2

S

(c)

B

(d) 3

55. A tree of height 15m is broken by
wind in such a way that its top touches
the ground and makes an angle 30°
with the ground. What is the height
from the ground to the point where tree

is broken ?
(a) 10m
(b) 7m
(c) S5m

(d 3m
56. On a plane area there dre two vertical
towers separated by<190 feet apart. The
shorter tower is:49 feet tall. A pole of
length 6 feet stands on-the linie joining
the base of two towers.so that the tip
of the towers and tip of the pole are
also on the same line. If the distance
of the pole from the shorter tower is
75 feet, then what is the height of the
taller tower (approximately) ?

(a) 85 feet ’
(b) 110 feet
(c¢) 125 feet
(d) 140 feet

57. The angles of elevation of the top of
a tower from two points at distances
p and g from the base and on the same
straight line are 27° and 63° respec-
tively. What is the height of the tower ?

(a) pq
®) pe

rq
() 5

Jrq

@ =

58. What is the value of

- 8in26° +/5in%12° + sin?18° + .... +
sin284° + sin290° ?

(@ 1

(b) 2

(c) 4

(d) 8

cos@ i 1
1+sin@ cotf

59. What is equal to ?

(a) cosecO

(b) secO

(c) sec@+ cosecl
(d) cosecO-cotf

19
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60. sinf@ —cosf +1 sm6‘+1’ﬁ E
sin@+cosf—1 cos@

g7

(@ o
() 1

(c) 2sinb
(d) 2cos6

61. (tan x + tan y)(1— cot x cot y) +

(cot x + cot y)(1- tan x tan y), frass
TR ¢ ?

(@) 0

(b) 1

(c) 2

(d 4

secx—tanx E 3
Vsecx+tanx’
1

sinx + cosx

1
tanx +cotx

1

secx+tanx
1

cosec x + cokx

62. TWER § ?

(a)
(b)

()

(d)

63.afc 0, o “wguiy # emar ® K

cot9=% Byt (sin® + cos@) = HH

R ?
(@) 1

69
(b) T
79
() 65
d 2

PLKI-T-MTK - A
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64.

65.

66.

1-2sin? B cos? 9+4 o1 um T
sin* 0 +cos* @

TR ® 7
(@ 0
(b) 1
(c) 2
@ 5

U A 48 cm &1 3R 14 cm == § |
afe foemf, st arelt 9o & | For 9
T §, (secB + cosecB) s
IR 8 ?
775

@ Tes

®) ¢73
P on

(d) 84

99 Prgs &1 gewa Fa1 ® Rt st
e L+2 2.2 X X g

%X Y N F
(x+y+2)?

ey
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60.

61.

62.

63.

sin@—cos@+1 i sin@+1

sin@ +cosf —1
equal to?

(@ 0
(b) 1
(c¢) 2sinf
(d) 2cos@

What is
cosé

What is (tan x + tan y)(1- cot x cot y) +
(cot x + cot y)(1- tan x tan y) equal to ?

(@ 0
®) 1
(© 2
(d) 4

secx—tanx
secx+tanx

1
sinx+cosx
1

tanx +cotx

ML, e
secx+tanx
i il
cosec x + cok=

What is equal to ?

(a)
(b)

(c)

(d)

If 0 lies in the first quadrant and
cot@ = ‘:—2, then what is the value of

(sin@+ cosf) ?
(@ 1
b &
®) <
n
© &

@ 2

64.

65.

66.

What is the value of
1-2sin’ O cos® 0
sin® 0 +cos* 0
(a) 0
(®) 1
() 2
@ 5

+4 equal to?

A rectangle is 48 cm long and 14 cm
wide. If the diagonal makes an angle 6
with the longer side, then what is
(secO+ cosec@) equal to ?

@) =
M)
(©) 84

@ =T

What is the area of the triangle having

side lengths Z+—z—, -z-+f—, f—+z ?
2R YRS
(x+y+2)?
(" TR o
xyz
XYz
®) x+y+z
X, N %
S e .

A - PLKI-T-MTK
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67.

68.

69.

afe ws Brgs & For 30° R 45° ¥
IR sudh sila (wdfrss) e fi
TS (x/5+1)cm g ﬁ‘gﬁl &l
g% T § 7

@ (V3+1) om?
®) (v3+3) cm?
(© %(«E +1) cm?
@ 2(v3+1) em?

ABCD, ¥9icR 9qH & ATHR 6 TH
2 ® | @1 EF, T@T DA S G0 & 3R
famuif 4C 3k BD & wferedg fag 0@
T Rt ® | 3@ wfaken, E, DC
RRRARIMFABRBER <2
ABCD # & frpfm fewn DOE w1
T R e % I T fewm ®
FAFA & R W & ST 4 AT
TR ?

(a)
(b)
(c)

(@

0|1 HKlw <l ool

20 om 3R 16 om &t Proarait 7 2 g9
T R N Fed § R wdfrs shar B
@aTE 24 cm § | Al S Fi & S
$ g0 d B, A Frfrfem 3 & @ ar

e

PLKI-T-MTK - A
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70.

71.

72.

(a) d<26cm
(b) 26 cm<d<27cm
(c) 27ecm<d<28cm

(d) d>28cm

5cm & P 9@ w 3@ H, @
S 4B 3R AC 3@ wR € T
AB=AC=8cm ¥ | a1 BC #t &ard
TR ?

(@ 9cm

(b) 9:2cm

(c) 96cm

(d) 9-8cm

2 99 s w1 A wel A & |
8%l & AREA  136mem? B 3R
maﬁ"’f%iﬁiﬁ_@4cm%lﬁ
gat & Breand = € ?

(@ 11 cm, 7 cm

(b) 10 cm, 6 cm

() 9cm, 5 cm

(d 8 cm, 4 cm

afg Tw g9 3R UH F F SABA <K
g, A S gRATEt & T @ R ?

(@ 247
®) V7
(© 3/;

N
(d) =
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67. If the angles of a triangle are 30°
and 45° and the included side is

(‘»/3+1) cm, then what is the area of
the triangle ?

(a) (\/3+1) cm?

70.

(b) (\/3 +3) cm?
(c) —;-(\/54-1) cm?
) 2(@ +1) cm?

68. ABCD is a plate in the shape of a
parallelogram. EF is the line parallel
to DA and passing through the point
of intersection O of the diagonals AC
and BD. Further, E lies on DC and F
lies on AB. The triangular portion DOE
is cut out from the plate ABCD. What
is the ratio of area of remaining portion
of the plate to the whole ?

5
(a) 3

(b)

| W

(¢

B w

7
@ 3

69. Two circles of radii 20 cm and 16 cm
intersect and the length of common
chord is 24 cm. If d is the distance
between their centres, then which one

of the following is correct ?

23

71.

72.

(a) d<26cm

(b) 26 cm<d<27cm

(c) 27cm<d<28cm

(d d>28cm

In a circle of radius 5cm, 4B and
AC are two chords such that

AB = AC =8 cm. What is the length of
chord BC?

(a) 9cm

(b) 92cm

(c) 9 6cm

(d) 9-8cm

Two circles touch internally. The sum
of theif areas is 1367 cm? and distance

between their centres is 4 cm. What are
the radii of the circles ?

(a) 11 cm, .7 cm
(b) 10 cm, 6 cm
(¢c) 9cm, 5 cm
(d 8 cm, 4 cm

If area of a circle and a square are
same, then what is the ratio of their

perimeters ?
(a) 2\/m
®) V7
N
(c) T
NC3
(d 4y

A - PLKI-T-MTK
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73. 8 cm =18 AT U 99 30 WHR T 4T
2 fF a8  WER i« W@E @ oy
= ¢ | iR & s afts e 39
s o= # 3@ yeR @ T o9
3T @t R gu @ et war ® |
B g9 F IE H 8 ?

(a) 4(3—\/§)cm
(b) 4(3-2+2)cm
(©) 8(3-+2)cm
(d) 8(3—2«5) cm

74. UF o 6 AE 1 §e §, W S0 A
Fiafe Brear 3 die 3k 3= 7 $ie
2 | Toh Iake @ae @ Tm & foag
=t = fa9w @1 & T i wEn f
FrEEEHAT Bl ® | T S At
el @ I T A M F fg @ f
ferartt 7 & srawEEar € ?

@ 3 fre

(b)%ﬁm

(c‘)gﬁm

(d)?ﬁm
.TS.Qﬁiaﬁaﬂt@m%aﬁWw

g1 Rk smm & w pr H e

FEATHS ©9 & i h TH T A A
F T F R B, A IEd H oI

(qEt) o <t ed el

' PLKI-T-MTK — A

76.

(a) T o fit F=E H: A
(b) Rt &t o A FA1E H AT
(c) T@TE (THh) warg R

(d) = &t s A Farg H G

T A Y W R HeE, 4:3 F
sqara § € | @ freuf 3 fewat ok =St
W A I 9 B & sewe &,
foamit & feedl o S8 oo & ;W
o Brgs & 8Fwd, ¥ sua feRa
g7

(a) 3:4

(b). 4:3

'(c) 16:9

77.

@ 1:1

7w e fF 30 fie B 9w
T 8 ¥ 20° F T a9 (Prouws)
BT Uah & ST AT © | 39 9 8
& AAFA FT ¢ 7
(a) 1507 T Hie
(b) 5507 i Hie
(c) 6'507531?.@3

(d) 8507 @ e
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73. A circle of diameter 8 cm is placed in
such a manner that it touches two
perpendicular lines. Then another
smaller circle is placed in the gap such
that it touches the lines and the circle.
What is the diameter of the smaller
circle ?

(@ 4(3-+2)cm
(b) 4(3-2+2) cm

(¢) 8(3-+/2)cm
(d) 8(3-2+2)cm

74. The thickness of a cylinder is 1 foot,
the inner radius of the cylinder is 3 feet
and height is 7 feet. To paint the inner
surface it requires one litre of a
particular colour. How much quantity
of the same colour is required to paint

all the surfaces of the cylinder ?

(a) — litre
b)) = litre
) = litre

d Elitr(:
@ 3

75. A square and a rectangle have equal
areas. If one side of the rectangle is
of length numerically equal to the
square of the length of the side of the
square then the other side of the

rectangle is

25

76.

77.

(2)

square root of the side of the
square

(b) half the side of the square

(c) of unit length

(d)

double the side of the square

The length and breadth of a rectangle
are in the ratio 4 : 3. Then what is the
ratio of the area of the triangle formed
by the parts of the diagonals with a
long side to the area.of the triangle
formed by the parts of diagonals with
a short side?

(a) 3:4
(b).4:3
(c) 16:9

d 1:1

Suppose a region is formed by
removing a sector of 20° from a
circular region of radius 30 feet. What
is the area of this new region ?

(@) 1507 square feet
(b) 5507 square feet
(c) 650m square feet

(d) 8507 square feet

A - PLKI-T-MTK
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78.

79.

80.

ABCD U% ®wiR =gds &, fed 4C
3R BD faawt € | afe £B4AD =60°,
ZADB=90° &, & BD? f&as s
7

3

(@) S4B

s
— AB
(b) 2

1 .2
— AB
© 3

s
d) —4B
@ 3

T HAIR g4 ABCD & ¥ 4 &

il T us @1 DC /PR Tt #

AR 7 @1 Fgl T BCA O R fiered

g1 3t p, DC w1 wefamg R, @

frafafea # @ =9 @1/3 == v

/% 7

1. APDAST 8%, APCO% 85%
F TR B

2. AQAB ! &%, APCQ % &F%hel
G ®

A for T g wnwmn | SR

3 :

(a) Fae

(b) Haw 2

() 13K 23

(d) T KAER

1-4 m Brean 3’5 m Texrd aven we i

(F) @i & forg for o wftex firgdh

et gt ?

(a) 302 59 HiX

(b) 30-4 ¥ HIEX

(c) 30-6 ¥° Hiex

(d) 30-8 ¥ HiX

PLKI-T-MTK - A
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81.

82.

83.

84.

afs v wras & el xafky & @
IHHT BAFA FT § 7

0| S

(a)

®) =

() xy
@ -y

ww Pe & yemst B et
3«‘-’,4\/;,5%/; g, i 3x<4\/;<5%/;
? 1 3l o = us @ 900 2, @

X, y, z % AGH QUIh A SHA: 4T
g2

(2) 1, 2
(b) 2,3, 4
©'1, 1,1
@d 3, 4,5

s e & siftres & siftres T wfiew
2 A § ?

(@) 1

(b) 2

(c) 3

(d) 3a

uﬁscmﬁwaﬁ@'@"ﬁaﬁéw
30° & FE H AR el g, A
9 =9 I daG1s e fama

(a) 314 cm

(b) 2-15 cm

(c) 214 cm

(d 2 cm
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78. ABCD is a parallelogram where AC

9.

80.

and BD are the diagonals. If
£BAD = 60°, ZADB = 90°, then what
is BD? equal to?

B e
Z AB
(a) 5

3

(b) 745°

ko2
— AB
(c) 2

2 p2
Z 4B
@ 3

A line through the vertex 4 of a
parallelogram ABCD meets DC in P
and BC produced in Q. If P is the
mid-point of DC, then which of the
following is/are correct ?

1. Area of APDA is equal to that of
APCQ

2. Area of AQAB is equal to twice
that of APCQ

Select the correct answer‘using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1-nor 2

How many cubic metre of earth is to
be dug out to dig a well of radius 1-4 m
and depth Sm?

(a) 30-2 cubic metre
(b)
(©
(d)

30-4 cubic metre
30-6 cubic metre
30-8 cubic metre

27

81.

82.

84.

If the diagonals of a rhombus are x and
y, then what is its area ?

o

(b)

(©)
(d

2
4

Xy
2y

The lengths of sides of a triangle are

3 4\5,53\/;, where 3x<4\/;<5 Az.

If one of the angles 1s:90°, then what
are the minimum integral values of
x, ¥, z respectively.?

(@ 1, 2, 3
(b) 2,3, 4
() BY 1
(d.3, 4,5

. What is the maximum number of

circum-circles that a triangle can

have ?
(a) 1
(b) 2
(c) 3
(d) Infinite

If an arc of a circle of radius 6 cm
subtends a central angle measuring
30°, then which one of the following
is an approximate length of the arc ?

(a) 3-14 cm
(b) 2-15 cm
(t) 2-14 cm
(d 2 cm

A - PLKI-T-MTK
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85.

86.

87.

5m @l UF W T R A T WS
@t £ ® fF 98 U QER W 4-8 m 3
farmg e wEat @ ok afs w0 gt & =
& feam fomr =@ amm A (faadia)
ZER & AR A e s At a8 14m
I foag 7% wgadt @ | R A ARE
ferat 8 ? :

(a 58 m

(b) 6 m

(¢c) 62 m

(d) 7-5 m

ue TaE B Y o gareR e 7 A
F1E T g 93 ATER Hi AFER ©IE
T SA%el 4T BRI ?

(a) 4 = w&rd

(b) 22 T T

(c) n & T

(d) 2 = zrd

r T aeht 4 qum afim WS # @
3 IR H T A R I GER @7 T
? o v g s ot Szt wast et
2 | =eh Wi ARG W 3 YER @l
T ® e ae At iEt A @
FA & | A g & W i aHad o
0, foraet @ 2

(a) 2

(b)

(c)

(d)
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88.

89.

UH @« gulg Sad TE Mes @
Bie-3ie of &1 § aiag w<ar ® | 3l
Merdh & B &A% p AR S &
THT FAFA ¢ ©, A1 Frfaraa 7 &
HHT A UEH TR ' ?

(@ p=gq

(b) p=2q

() 2p=g¢

(d 2p = 3¢

ABCD U& =q%9 =@ WwaR © F&
AD = DC = CA = 20 $&13, BC = 12
TE HR LABC =90° B | =g
ABCD &1 &@a%a wrwdr foaem & 7
(a) 269 a1 ZFTS

(b) 300 =% TS

(c) 325.3% T

(d) 349 =t s

90.

Wmﬁ9cmﬁmﬂﬁ@§ﬁ
F =™ PORS & | PQ, OR 3R RS
SER TGS & & | OS H AH da Th
sdga @i T g (Sar fe osma #
feaman @ ®) | wifim &= @1 smifia
&/ FAIT T ?

(a) 25:121

o) -5:13

(c) 5:18

(d 1:2
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85.

86.

87.

A ladder 5 m long is placed in a room
so as to reach a point 4-8 m high on
a wall and on turning the ladder over
to the opposite side of the wall without
moving the base, it reaches a point
1-4 m high. What is the breadth of the
room ?

(a) 58 m

(b) 6 m

(c) 62 m

(d 75 m

What is the area of the largest square

plate cut from a circular disk of radius
one unit ?

(a) 4 square units

(b) 2+/2 square units
(c) m square units

(d) 2 square units

Out of 4 identical balls of radius r,
3 balls are placed on a plangrsuch that
each ball touches the otherdiwo balls.
The 4 ball is placed on them such that
this ball touches aitoihe three balls.
What is the distatice of centre of 4th
ball from thecpiane ?

(a) 2\/% 7 unit

«/5+2~f5
—teee " U

Wi nit

r :
unit
3-2+2

Baah o .
———J—g"'_runlt

(©)

(d)

29

88.

89.

90.

A right circular cylinder just encloses
a sphere. If p is the surface area of the
sphere and ¢ is the curved surface area
of the cylinder, then which one of the
following is correct ?

@ p=g

®) p=2q
() 2p =g
(d 2p = 3q

ABCD is a quadrilateral such that
AD = DC = CA = 20 units, BC = 12
units and ZABC=90°. What is the
approximate area of the quadrilateral
ABCD ?

() 269 sq units
(b) 300 sq units
(c) 325 sq units
(d) 349 sq units

Let PORS be the diameter of a circle
of radius 9 cm. The length PO, OR and
RS are equal. Semi-circle is drawn with
OS as diameter (as shown in the given
figure). What is the ratio of the shaded
region to that of the unshaded region ?
(a) 25: 121

(b) 5:13

(c) 5:18

d 1:2
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@ ™ 3w ¥ e &= @ fEwa
ﬁﬁﬂ'l%,ﬂﬁm%ﬁﬁWZCm
A

(@) 43-27mcm®
(b) V3-7mcm?

) V3 —g cm?

(d) 27-2+/3 cm?

63 units

6 units 0 units

w

feu o am@ #, wifE 8% =1 SEw
e g ?

(@) 9(m—-+3) T THTE
(b) 3(4m-33) T TS
(¢) 3(3m-4+/3) = z=rd
(d) 9(3-m) T T

PLKI-T-MTK - A
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93.

94.

"3 5
< C

Ry sva ¥, AR L= M =52,

AxFAAFTE ?
(a) 45°
(b) 30°
(c) 15°

(" 102

ABCD & ¢iifsaw (wweia) 8, el
AB, DC & @ik & | afg AB=4cm,
BC=3cm, CD=7cm ¥R DA=2cm
®, A1 ¢ifoam &1 S9%a =T R ?

(a) ZZ\E cm?
(b) 22@ cm’

(c) 22+/3 cm?

22:/2
3

sz

(d)
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92.

What is the area of the shaded region
in the given figure, if the radius of each
of the circles is 2 cm ?

(@) 4+/3-27m cm?
() +3-7mcem?

) 3 —g cm’

(d) 27-2+3 cm?

6v3 units

6 units

6y Dunits

In the given figure, what is the area
of the shaded region ?

(a) 9(7:—\/5) sq units
(b) 3(47:—3@) sq units
(c) 3(37:—4@) sq units
(d) 9(~/3-m) sq units

93.

924.

x Z

e ~
b L

In the given figure, if%= 6 and §= %

then what is the value of x ?
(a) 45°
(b) 30°
) 15°

(d) 10°

ABCD is a trapezium, where AB is
parallel to DC. If AB=4 cm, BC=3 cm,
CD=7cm and DA =2 cm, then what
is the area of the trapezium ?

(a) 22@ cm?
3 X
(b) 22@ cm’

(c) 22+/3 cm?

222
3

cm?

(@

A - PLKI-T-MTK
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95. fer @ sm@ ¥ PO, RS & IR
®, ZAEF=95°, /BHS=110° 3K
ZABC=x°8, M x AN TS ?

(a) 15

(b) 25
8 (©) 30
5
3 . @ 35
ferw g sm@ # o Rem W €
LN+ L2+ L3+ LA+ L5+ L6+ LT+ /8 7. H
FIAF TR ? '\A \
£— d > 2 >
(@) 240 S
(b) 360° 5
< ~ = = >F
(c) 540°
G
@ 720°
few 7 sm@ #, 4B, CDF wHER § IR
AC, BD S W9ieR ® | afe ZEAC = 40°,
96. p y ZFDG = 55°, ZHAB = x° & @ x &1
HH MR ?
A ) 6 (a) 85
95°
B
(b) 80
H 110°
& F
(c) 75
Q s (d) 65

PLKI-T-MTK - A 32
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95 In the given figure PQ is parallel to

3 RS, ZAEF=95°, ZBHS=110° and
ZABC = x°. Then what is the value of
4

(a) 15

(b) 25

5 (c) 30

7 6 @ 35

Angles are shown in the given figure.
What is value of L1+42+/3+/4+

L5+ L6+ 27+ /87 97. Y
(a) 240° . M d \ B :

(b) 360° -

(c) 540° | £ /E c\ \zsr G4
d 720° o

In the given figure 4B is parallel to
CD and AC is parallel to BD. If
96. ZEAC=40°, LFDG=55°, ZHAB=x°,

P R then what is the value of x ?
i 1
e ol
;C> B ®) 80
4 (ﬂ//}?”"f; 110°
(e) 75
Jr Jr
g s (d) 65
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98. (a) 153 cm?

(b) 255 cm?
(c) 284 cm?
AWC e e
E D 100. -
feu o s A, oW a1 99 ABC, AEF
R CDF 81 4 3R C & &9 &t g 5
28 T ®, AR F, AC =1 weAfag ® |
dHT refgt o g SAwe foraar ® 2
(0]
(a) 924 & TS
(b) 824 =t zarE R ¢
e 3@ & wed #, fafafes
(c) 624 T FHTS Al R faar fifs .
1. AAOD 3R ABOC & &a%ell &l
() 462 T TS ATES AAOB IR ADOC
| FAFAT & ANTHA & FTE ¢ |
99, XD 2. ZAOD = ZBOC
//% 3. AB+BC+ CD+DA>AC+ BD
8.cm
I A ¥ HN W FIT A § 7
6 cm 6 cm ;
3 (a) a1 3R 2

%’ (b) Haw 2 3R 3

: (c) Had 13K 3
fu U aR@ #, W@ &7 = A%
e foa § 7 d 1,28R3

PLKI-T-MTK - A 34
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98.

99,

B
F
AWC
E D

In the given figure, there are three semi
circles ABC, AEF and CDF. The dis-
tance between 4 and C is 28 units and
Fis the mid-point of AC. What is the
total area of the three semi circles ?

(a) 924 square units
(b) 824 square units
(c) 624 square units

(d) 462 square units

6 cm 6 cm

8 cm

What is the approximate area of the
shaded region in the figure given ?

35

100.

(a) 153 cm?

(b) 25-5 cm?
(c) 284 cm?
(d) 30-5 cm?
B
A
(9
D C

Consider the following statements with
reference to the given figure :

1. The sum of the areas of AAOD
and ABOC is equal to the sum of
the areas of AAOB and ADOC.

2. ZAOD = ZBOC

3. AB+BC+CD+DA>AC+ BD

Which of the above statements are
correct 7

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1, 2 and 3

A - PLKI-T-MTK
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SPACE FOR ROUGH WORK
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wow A & forg e
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : PLKI-T-MTK : ' Test Booklet Series

TEST BOOKLET

ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

5.

6.
y

8.

+ Booklet in the Box provided alongside. DO NOT write

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test

anything else on the Test Booklet.
This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONNLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal méatks.

Before you proceed tayimark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in@o#he particulars.in the Answer Sheet as per instructions sent to you with your
Admission Certificate. _

After you hayécompleted filling in all your responses on the Answer Sheet and the examination has
concluded, ¥ou should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for.rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBIJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be mo penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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